Foundations and Pre-Calculus 10

6.5 Slope-Point Form of the Equation for a Linear Function

Slope-Point Form:
The equation of a line that passes through P(x,y,) and has slope mis:y -y,

:m(x—x1)
Example: Given the equation y+2 = E(x -5),
a) Describe the graph of the linear function. b) Graph the equation. ““)
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a) Write an equation in slope-point form for this line.
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b) Write the equation in slope-intercept form. What is
the y-intercept of this line?

-—_1- -, | = =
LJ 37(**.3—H 37( +ﬂ"—
df\ ) T ( L’ Ll / )
Example: Write an equation for the line that passes through S(2, —3) and is:

a) parallel to the line y=3x + 5
IML Sixpe = D
i) In point-slope form

b) perpendicular to the line y=3x + 5
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i) in point-slope form
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i) in slope-intercept form ii) in slope-intercept form
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b) Sketch both of these lines on the grid below:
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Example: Write an equation for the line that passes through D(-5,-3) and is:

a) parallel to the line y =§x+1 b) perpendicular to the line y :ix+1
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Example: Write an equation for the line that has x-intercept 4 and is perpendlcular to the line
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